Victor Champion Cup ( Match 8)

Ewart VS Neill
Ewart Neill Neill Ewart
N| Ewart |E| Neill JN| Gumby |E| Rogers
S| Howe W |JedrychowskifS| Lazer [(W| Clark
BoardfContract | by |M|D| N-S|E-WJContract| by |M|{D| N-S|E-W} IMPs
46 |N| |4 200 58X | S 1 100 3
2149 |W| [1]| 50 49 |W|5 450111
3] 5 [W|5 600} 3NT |[E| [4]400 14
4 1 INT |E |2 120f 24 [E 1{100 6
51 44 [E |4 420] 4+ |E |4 4200 - | -
6 JISNTX| S |4| [650 3NT [ S |4| |430 6
7 | INT | N 1 100§ 2¢ |E| [2]200 7
8 |5#X|N|5| [550 3NT [ S |4| |430 3
991 44 [N |5| |450 46 |N|[5| [450 - | -
10 3% (W |4 130f 4% (W |4 1308 - | -
11 3¢ |N|3| |140 29 |N|[2| |110 1
120 29 |E |4 1708 29 |W|2 110 2
13 3NT [N |3| |600 3NT [ S |3| |600 - | -
140 49 | S |4| |420 509X | N 1 10011
15 49 [N |4| |620 49 |S 1 100f 12
16 40 [N |5| |450 49 |N|[5]| (450 - | -
44132
IMPs Ewart Neill
This segment 44 32
Penalty o) o)
Carryover 0] 0]
Total 44 32
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

2 cKJI7 2
Vo872
420 o h g Ewart 11 11
*K 54 .
s 62 caASA3 Neill - 0
VKQJ 65 | £ VA103
OAT7 A °oQ1052
*AQ2 206
3721095 = 49 by W, down 1,EW -50
OJd 86 10 = 1
218S 4 9 49 by W, making 5,EW 450
(N-S)YEwart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe
W N E S 790 A9 40 5
& G 3 O K
P P P 2 388V 6
19 P 28 P abmsoiat
w P P P $EEAS
KPP O9a4$H 8
O 7090 TO J
21252021
= 49 by W, down 1,EW -50 = 49 by W, making 5,EW 450
3 aK743 2
K 62 _
630 ZKQ J10 é Ewart 11
& 42
o A8 + Q1095 Neill 14 14
v 4 ~ vA853
©A765432  _  0Ql109
*KQJ *0 7
@;(732 19 = 5¢ by W, making 5,EW 600
©J8 13| = SNT by E, down 4,EW -400
& A108653 5

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S QKYAQ 79 4

o7 Ade J& 2

© IEnE:

10 19 1s P O30 Q0 J

20 2@ 3¢ P A566468a4K
37 X 3N P

5 P P P
= 5¢ by W, making 5,EW 600

= SNT by E, down 4,EW -400
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

4 Q1042 2
8 _
120 ch? S § Ewart 11
*AJI07 .
2KJOSS a53 Neill 6 20
VA J A vQ752
01065 W= JAK S
208 +KQ53
; 1%‘;, -8 = INT by E, making 2,EW 120
©QJ8742 76| = 24 by E, down 1,EW -100
*d 542 7
(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe
wonmls SRRme
14 P IN P P
P P PR X VP
7850205
QYR TV 4
ASAANSAD
= INT by E, making 2,EW 120 = 24 by E, down 1,LEW -100
5 296 3
010985 _
420 = é Ewart 11
*AQP7/ .
+A107 2 N +KQ843 Neil - 20
VK J VA3
©J10643 oQ2
263 2K108 4
@(-;?642 8| = 44 by E, making 4,EW 420
OAK S 10 = 44 by E, making 4,EW 420
*2J52 7

W N E

P 1o

2N P 4e
P P

S
P
P

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

O AQ 3¢ 80 2
o 2 3 Ade 4
& 78 Ko 5 6
AKA54246
a3aJaAN9
405 XK

= 44 by E, making 4, EW 420

= 44 by E, making 4, EW 420
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

6 2106 10-11
460 3 S
OA5A42 9-10
*QJ10985 "
+KJ8543 a7
v 54 — - VKI098632
K963 © 10
* 6 * A432
+AQP2 2
CAQJ 2
cQJd 87 S
*K 7/ 2

Ewart 6 17

Neill - 20

= 3NTX by S, making 4, NS 650
= 3NT by S, making 4, NS 430

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S \VE VAV VN
o Kdo Gdo S 2

Y on Sraens

L VK Y°X NEK

14 3% P SN $36%6T0
X P P P O QX KO AQ 2

= INTX by S, making 4, NS 650

= 3NT by S, making 4, NS 430

4 s AK J2 !
90 08 7/ 5
CKQ2?2 6
*QI105 7
eQ984 4105
CAKI0O6 _I_ voQJd 3
0103 s 0J8765
*PA83 PKOOE
a763 6
V542 6
OAA g
*2J/742 6

Ewart - 17

Neil 7 27

= INT by N, down 1, NS -100
2¢ by E, down 2,EW -200

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S

P
1 1IN P P
P

O 3GEGEH i OO
IPPRAITH 3
e 3
S3333399 893
OorNUIOOR—TWOX

= INT by N, down 1, NS -100

= 2¢ by E, down 2,EW -200
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

8 s/ @
430 OCKQJ6 6
086 10-11
*KJI0532 A
+KQ +J109285
VA9853 0107 42
QD7 0103 2
*Q7 4 * A
CrAT7TO6E32 3
Q — 6
CAKJI5A4 !
20806 2

Ewart 3 20

Neill - 27

= b#X by N, making 5, NS 550
= 3NT by S, making 4, NS 430

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

woNoE S LIRGL3LR
19 3% 3¢ 5& Q2429 AQ J
AaKadaJaA
X P P P D OB 7HTR 4
S Ko TO 48Q

= b X by N, making 5, NS 550

= 3NT by S, making 4, NS 430

9 «aAQI06 5

EHBC) °oQd <@

cQ743
K2

* K
CA84
108 652
*102 2

— b —h —h
~NPDDOodN

/73
10732

¢ Q
*2QJ8653

p

S

L IRIRCH 4
>PPAC
NAO®
AaO A
ORNRPR

Ewart -~ 20

Neill - 27

= 44 by N, making 5, NS 450
= 44 by N, making 5, NS 450

(N-S)Ewart (
(W)Jedrychowski (N)

W N E S

M

-W)Neill
wart (E)Neill (S)Howe

CRNRALS
1 P 29 QgQEQ%QE

& Ode Ko S

P30 P 3% (Qa5asas
P 46 P P QY295 A

P

m

= 44 by N, making 5, NS 450

= 44 by N, making 5, NS 450
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10 +KQ 2
130 CAK 7 3 7
09832 3
873 3
65 +J10432
©10 0JP86
O AKS6 A4 +E a4
* AKQJ 64 *109
aAP87 7
vQ542 7
0107 5 o
252 10

Ewart - 20
Neill - 27

= 3% by W, making 4,EW 130
= 44 by W, making 4,EW 130

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S AP ER 29T

p & 324
1« 19 P 29 AKM2AH7H6
3 P P

= 3& by W, making 4,EW 130 = 44 by W, making 4,EW 130
11 sA63 :
-100 Zgj 8 S Ewart 1 21
+K108 32 7
aKJ52 e84 Neill - 27
v105 06 A2
©Q09853 . 0A7OS
*J *AQP54
*Ql02 7 4 = 39 by N, making 3, NS 140
CAKS 73 2
2§§ 9 = 29 by N, making 2, NS 110
* 6

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S 4P AY 59 8

& G Jdo Ko A

. LR

P 1IN P 2¢ 7O 3M 289

P 29 P 2e ago g&%gg
& 3 5¢

P 3v P P aTa5a3a4

p NEILIYY:

S5O 66946K

= 39 by N, making 3, NS 140

= 29 by N, making 2, NS 110
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

12 K105 6
vosE42 - —
110 ¢ e i_g Ewart 21
L 853
2sA863 A aQ2 Neill 22 29
vQ< W I K108 6 3
Q5 OCK102 82
*»K10274 * 6
a g/ A4 7| = ]
SR ¢ 29 by E, making 4, EW 170
CAHA3 = 1
285 8 29 by W, making 2,EW 110
(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe
W N E S QgQSQI;Q%
P P 29 P $Ravave
P P AGAS6Qa7
Q@ KP J# 4P 5
Q20X X7
AMALMTHMGA9
= 29 by E, making 4,EW 170 = 29 by W, making 2,EW 110
13 s K 8
052 _
600 S AeS g Ewart 21
*AQJ842 ,
41084 N tAJO2 Neill - 29
CA63 0108 4
C6HE32 107
»0 5 K106 3
*Q/7653 4 | = 3NT by N, making 3, NS 600
oKQJ 7 g
0';0 J 5 = 3NT by S, making 3, NS 600
% 4

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S gggg(gggé
1 P 1o *Zégﬁgﬁﬁ
ERE XK XL
P 2& P 29 S Ao 3a5M85
P 2N P 3N *Ségﬁgog
¢ 99 49 79
P P P $48 76 482
Y JO 3M2

= 3NT by N, making 3, NS 600

= 3NT by S, making 3, NS 600
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

14 o K g
_300 OJ 76532 10
CAQJE3 10
* J 6
210652 * AQJ?P/3
CAQ =04
0964 6872
Q102 5 *KA43
«» 84 7
VK102 8 8
¢ K10 3
2A8 /762 7

Ewart 11 32
Neill - 29

= 49 by S, making 4, NS 420
= 59X by N, down 1, NS -100

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S ACOMKMAM,
& 4o Ao Qb J
l« P VK AQ 29 4
26 34 P 49
P P P

= 49 by S, making 4, NS 420

5@ X by N, down 1, NS -100

15  J103 g
140 CAK O 9
OCAJI05 8
*AKS 6
AKO7 52 aA8A4
05 vQ4a?2
K863 s oQ2
205D *QJI0S6 3
& Q6 6
v J109873 7
0974 z
/74 7

Ewart 12 44
Neill - 29

= 49 by N, making 4, NS 620

49 by S, down 1, NS -100

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S & Qe 4o 50 A

VAP 49 3 5

P gKOzyISS

P 2& P 2¢ Q60 QY 845
& JQ OROR 8

P 2N P 30 2380 q
P 3V P 49 O 20 X KO A
P P P gg§6<>7<>8

= 49 by N, making 4, NS

o)
N
-

= 49 by S, down 1, NS -100
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Victor Champion Cup ( Match 8 ) Ewart vs Neill

16 a3 L
980 © AQJ108754 12

O A2 5
* K6 7-8

« K8 * AQJI062

06 W— V2

O KJ109754 63

& Q52 & JO3
a0 /754 2
OK 3 7
°Q8 0
*AI0874 5

Ewart - 44
Neill - 29

= 49 by N, making 5, NS 450
= 49 by N, making 5, NS 450

(N-S)Ewart (E-W)Neill
(W)Jedrychowski (N)Ewart (E)Neill (S)Howe

W N E S 32083?%%@
3¢ 49 P P v4ggvK<>J
p & 48 58 K

= 49 by N, making 5, NS 450

= 49 by N, making 5, NS 450




